City of Lincoln/Lancaster County (Lincoln Purchasing) Supplier Response

	n	Contact Inf	ormation	Ship to Info	rmation
Bid Creator Email Phone Fax	Rachelle Hinze, Buyer rhinze@lincoln.ne.gov 1 (402) 441-8313 1 (402) 441-6513	Address Contact	Purchasing 440 S. 8th St. Lincoln, NE 68508 Rachelle Hinze, Buyer Purchasing	Address	Lancaster County Engineering 444 Cherrycreek Road, Bldg B Lincoln, NE 68528
Bid Number Title Bid Type Issue Date Close Date	17-134 Carbide Grader Blades Quote 4/18/2017 10:33 AM (CT) 5/5/2017 12:00:00 PM (CT)	Departmer Building	nt Suite 200 n	Contact Department Building Floor/Room Telephone Fax Email	Ron Bohaty
Supplier Infor		. =			
Company Address	MIDWEST SERVICE AND SA 602 Road 5	LES CO.			
Contact Department Building	Schuyler, NE 68661 Terry Scheuneman				
Floor/Room Telephone Fax Email Submitted Total	(800) 642-8302 (402) 352-5142 sales@midwestserviceandsal 4/24/2017 11:56:14 AM (CT) \$30,307.20	es.com			
By submitting	your response, you certify that y	ou are autho	rized to represent and bind	your company	
Signature Te	erry Scheuneman		Email sales	@midwestserv	iceandsales.com
Supplier Note	S				
Bid Notes					
Bid Activities					

Bid Messages

Bid Attributes Please review the following and respond where necessary

#	ease review the following and respond whe	_ Note	Response
1	U.S. Citizenship Attestation	Is your company legally considered an Individual or Sole Proprietor: YES or NO	No
		As a Vendor who is legally considered an Individual or a Sole Proprietor I hereby understand and agree to comply with the requirements of the United States Citizenship Attestation Form, available at: http://www.sos.ne.gov/business/notary/citizenforminfo.html	
		All awarded Vendors who are legally considered an Individual or a Sole Proprietor must complete the form and submit it with contract documents at time of execution.	
		If a Vendor indicates on such attestation form that he or she is a qualified alien, the Vendor agrees to provide the US Citizenship and Immigration Services documentation required to verify the Vendor's lawful presence in the United States using the Systematic Alien Verification for Entitlements (SAVE) Program.	
		Vendor further understands and agrees that lawful presence in the United States is required and the Vendor may be disqualified or the Contract terminated if such lawful presence cannot be verified as required by Neb. Rev. Stat. 4-108.	
2	Bid Documents	I acknowledge and accept that it is my responsibility as a Bidder to promptly notify the Purchasing Department Staff prior to the close of the bid of any ambiguity, inconsistency or error which I may discover upon examination of the bid documents including, but not limited to the Specifications.	Yes
3	Instructions to Bidders	I acknowledge reading and understanding the Instructions to Bidders.	Yes
4	Specifications	I acknowledge reading and understanding the specifications.	Yes
5	Delivery	State number of delivery days ARO. FOB to the City/County at the location specified with all transportation charges paid.	Approx 30 days ARO
6	Bid award	I acknowledge and understand that the City, County and/or Public Building Commission reserves the right to award bids item-by-item, with or without alternates/options, by groups, or "lump sum" such as shall best serve the requirements and interests of the City, County and/or Public Building Commission.	Yes
		If your pricing is based on an all-or-nothing basis, please indicate so in the Supplier Notes section of your E-Bid response.	
7	Purchase Order, Contract and Delivery Contact	The City/County Purchasing Department issues Purchase Orders and Contracts via email to a designated contact person of the awarded Vendor. This designee will be the primary contact with the department through the delivery of the product/services. Please list the name, email address and phone number of the person who will be the contact person for the PO to be awarded.	Terry Scheuneman, sales@midwestserviceandsales.com 800-642-8302

- 8 Contact
- 9 Electronic Signature

Name of person submitting this bid:

Terry Scheuneman

Please check here for your electronic signature.

Yes

	UOM	Description		Response
66	EA	3' Tungsten Carbide inserts of not less than 0.36" and faced 5/8" of have carbide embedded layer on front bottom edge of the blade p		\$196.8
Ite	m Notes: Un	it price shall include delivery.		
Su	pplier Notes: Su	bstituting Double Bevel Curved blades for Single Bevel		
lter	n Attributes: Plea	se review the following and respond where necessary		
#	Name	Note	Response	
1	Manufacturer	List your manufacturer of the product you are bid	lding. Black Cat Wear Par	ts
2	Model	List your model number of the product you are bi	idding. CIJT873645-ACI	
3	Sets	Do you sell the line item above as a set? Yes/No What would the cost be for a set? \$ When the set consist of?		
66	EA	4' Curved, single bevel, grader blade with Tungsten Carbide inser and faced 5/8" diameter holes. Blade shall have carbide embedde edge of the blade per specifications.		\$262.
Ite	m Notes: Un	it price shall include delivery.		
Su	pplier Notes: Su	bstituting Double Bevel Curved blades for Single Bevel		
Iter	n Attributes: Plea	se review the following and respond where necessary		
	Name	Note	Response	
#		List your manufacturer of the product you are bid	lding. Black Cat Wear Pa	ts
	Manufacturer			
#	Manufacturer Model	List your model number of the product you are bi	idding. CIJT874845-ACI	

Rachelle J. Hinze

From: Sent: To: Subject: Attachments: Ron L. Bohaty Wednesday, May 24, 2017 11:39 AM Rachelle J. Hinze RE: 17-134 is up for your review Carbide Grader Blades Req 2.pdf

Shelly,

Please award the bid for grader blades to Midwest Service and Sale. I have attached the requisition for the purchase and changed the quantities to 75 each from 66.

Thank You,

Ron L Bohaty Assistant Road Maintenance Superintendent Lancaster County Engineering 402-441-7775 Office 402-441-6321 Fax 402-601-9857 Cell

From: Rachelle J. Hinze Sent: Monday, May 08, 2017 8:49 AM To: Ron L. Bohaty <<u>RBohaty@lancaster.ne.gov</u>> Subject: 17-134 is up for your review Importance: High

The bid has closed and is ready for you to view on our E-bid system. Attached are the instructions directing how to view the quote/bid on our E-bid system.

After you have reviewed the bid please send your recommendation.

Shelly

1 1	3' Tungsten Carbide inserts of n have carbide embedded layer o			Manufacturer	Model	Sets			
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	List your manufact	List your model nu	Do you sell the line
	MIDWEST SERVICE AND SALES C	66	EA	\$196.80	\$12,988.80	Substituting Double Bevel Curved blades for Single Bevel	Black Cat Wear Par	CIJT873645-ACI	No
	B's Enterprises Inc.	66	EA	\$204.00	\$13,464.00		Esco Bucyrus	CB25382	No
	Road Builders Machinery & Sup	66	EA	\$218.90	\$14,447.40		ESCO Corp.	Bucyrus Blade CB25	NO
	Winter Equipment Company	66	EA	\$247.27	\$16,319.82		Black Cat	CIJT873645-CI	NA

2	4' Curved, single bevel, grader l faced 5/8" diameter holes. Blac the blade per specifications.		Manufacturer	Model	Sets				
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	List your manufact	List your model nu	Do you sell the line
	MIDWEST SERVICE AND SALES C	66	EA	\$262.40	\$17,318.40	Substituting Double Bevel Curved blades for Single Bevel	Black Cat Wear Par	CIJT874845-ACI	No
	B's Enterprises Inc.	66	EA	\$272.00	\$17,952.00		Esco Bucyrus	CB25383	No
	Road Builders Machinery & Sup	66	EA	\$291.86	\$19,262.76		ESCO Corp.	Bucyrus Blade CB25	NO
	Winter Equipment Company	66	EA	\$329.69	\$21,759.54		Black Cat	CIJT874845-CI	NA

Line #	Att #	Attribute Name	Attribute Note	MIDWEST SERVICE AND SALES CO.	B's Enterprises Inc.	Road Builders Machinery & Supply Co.	Winter Equipment Company
Header	1	U.S. Citizenship Attestatic	Is your company legally co	No	No	NO	yes
Header	2	Bid Documents	I acknowledge and accept	Yes	Yes	Yes	Yes
Header	3	Instructions to Bidders	I acknowledge reading an	Yes	Yes	Yes	Yes
Header	4	Specifications	I acknowledge reading an	Yes	Yes	Yes	Yes
Header	5	Delivery	State number of delivery	Approx 30 days ARO	3-4 Weeks ARO	30 days	3 weeks aro
Header	6	Bid award	I acknowledge and unders	Yes	Yes	Yes	Yes
Header	7	Purchase Order, Contract	The City/County Purchasi	Terry Scheuneman, sales@midwestser viceandsales.com 800-642-8302	Tim Braithwait President	,	karl ferber/kferber@wi nterequipment.co m/8002946837
Header	8	Contact	Name of person submittir	Terry Scheuneman	Tim Braithwait Presidet	Mike Cramer	sanja lijak
Header	9	Electronic Signature	Please check here for you	Yes	Yes	Yes	Yes
1	1	Manufacturer	List your manufacturer of	Black Cat Wear Parts	Esco Bucyrus	ESCO Corp.	Black Cat
1	2	Model	List your model number o	CIJT873645-ACI	CB25382	Bucyrus Blade CB25382	CIJT873645-CI
1	3	Sets	Do you sell the line item a	No	No	NO	NA
2	1	Manufacturer	List your manufacturer of	Black Cat Wear Parts	Esco Bucyrus	ESCO Corp.	Black Cat
2	2	Model	List your model number c	CIJT874845-ACI	CB25383	Bucyrus Blade CB25383	CIJT874845-CI
2	3	Sets	Do you sell the line item a	No	No	NO	NA